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1. [3BAMAT/S]

Classpad Examples

Determine exact solutions for the following equations.

(a) 5x+l -

2. [3BMAS]

1
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Write an equation for the tangent to the curve

y =3In(x +2) at the point

where x = 4.

3. [2D/3AMAT]

A recursive sequence is defined as

Tn+3 = Tn+2

Expression: [Zlnda+21
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Find the next three terms of the sequence and T, .
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4. [3AMAT]

Solve the simultaneous equations
y—x=2andy=x>-6x+8.

5. [3B/3CMAT]

Differentiate each of the following
with respect to x.

(a) y:4x2+3\/;—4+1
X

2x% -1

®  y=

6. [2D/3AMAT]

A sketch of a lot from a surveyor’s notebook
is shown. All the lengths are in metres. Find

the area of the land.
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7. [3BBMAT]

A cylindrical canister of radius r that is open at one
end has a volume of 480cm?®. Find the minimum
possible surface area of the cylindrical canister.
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10. [3BBMAS] A body A leaves the origin and travels with velocity 8i + 6j. How close does it come to
point B which is stationary with position vector 20i + 6j ?
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13. [2D/3AMAT]
18

Calculate the size of angle ©. 1o 4
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